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dumber(dumber) Version 90:It is found by a survey that crime rate

of young women is increasing. Please state out the possible reasons

and solutions.Young women crime has become more and more

prevalent in recent years. What are the reasons for this and what can

be done to combat it?nbsp；Secondly, crime is frequently

connected to poverty. This is especially true for young women

coming to big cities from the countryside or living at the bottom of

society. In China  the country where I live, over the last twenty years,

the gap of income between rich and poor has greatly widened. Those

young women who are suffering from poverty, few opportunities

and perhaps little education, are more likely to be tempted into a life

of crime as a shortcut to their dreams of leading decent lives.nbsp； 
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